Inheritance revision

Define the following terms:

1. Intermediate inheritance:

2. Dominant/recessive inheritance:

3. Phenotype:

4. Genotype:

5. Allele:

6. Homozygous

7. Heterozygous
1. If brown fur is dominant to white, 

The genotype of a brown fox could be  _________________   or _________________

The genotype of the offspring from 2 brown foxes could be :

Parents pure breeding   ________________  

One parent hybrid         __________________  or ______________________

Both parents hybrid     ___________  or _____________  or ______________

2. The offspring has flower colour different to both parents, and the parents have different flower colour to each other. Choose appropriate labels and:

List all possible genotypes and associated phenotypes for parents and all offspring.

Now list all possible genotypes and phenotypes for the F2 generation

3. Draw punnets for all the possible combinations between homozygous red, heterozygous yellow and homozygous orange flowered plants. Use R for red and  O for orange

